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(7}2) = 18 x 3.14 = 56.52( cm)
(E919] 4o]) =56.52x2+9x2

=113.04 + 18 = 131.04( cm)
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(7}2) = 6 x 3.14 = 18.84( cm)
(B89 Zo]) =18.84x2 4 15 % 2

= 37.68 + 30 = 67.68(cm)
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FHO| 7tR O] Zol= BHE| =] Ho|oF EEU T
(7}2)= 14 x 3.14 = 43.96( cm)
(B9 do]) =43.96x2+5x2
= 87.92 4 10 = 97.92( cm)
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> Hg: 119.04cm

(A7 o] 7hm)= (e o] 20 95
(9%x2x3.14)x2+3%x2
= 56.52% 2+ 6 = 119.04( cm)
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(F2) =10 x 3.14 = 31.4(cm)
(B9 Zo]) =31.4x2+9x2

= 62.8 4 18 = 80.8(cm)
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(AAZER el 7he)= (BHe] g9 95
(8 2x3.14) 4+ 2 = 50.24 + 2 = 52.24( cm)
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(7Tx2x3.14) x4+ (5%2)

= 175.84 + 10 = 185.84( cm)
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> H®E . 93.64cm
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FHo] 712 o] Aol WHO| E5|2] Zolet Z OB 40.82cm
JYrt.
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(AR 0] 7h2)= (Awe] 49 AF)
(I1x2x3.14)x4+7x%x2
= 6.28 x4+ 14 = 39.12(cm)
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(50x2x3.14) x4+ 120 x 2

= 1256 + 240 = 1496( cm)
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Zole} it
(ANze] 2] Ao])

= (AP 712 ) x4+ (H2)x2
=2826x4+8x%2

=113.04 + 16

= 129.04( cm)
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(12x2x3.14) x4 + 35 % 2

= 301.44 + 70 = 371.44( cm)
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